(8)
Unsecured Creditors 50,000
10% Debentures (Interest paid upto 30 September 2011)
, 60,000
Share Capital 1,000 shares of T 100 each 1,00,000

Liquidation Expenses. 230
Debentures were paid off on 30 September, 2012. Liquidator’s
remuneration was agreed at 3% on assetsrealised (excluding
cash) and 2% on the amount paid to unsecured creditors. Prepare
Liquidator’s final statement of account. ' 16
FOE B GaE 30 Reww, 2012 @ @ @ wwes &
qitsfes gl @ aga W) (63 B BisH) 3% 7 FEE S
G IR A W W 2% P gom ) qus H At f@aer

@ daR B | 16
9. Write notes on the following :
(i) Operating Expenses of a Banking Company. 4
@) Billfor Collection. 4
@iii) Bad debts and Provision for doubtful debts. 8
frfafaa ot fewfmi fafee :
() s dfHn FEN B dERE 4 By
() @we 3 fw R -
(i) zaa =1 an w@Rw RO B e SRR | 8
10. What is the difference between Life Insurance and General
Insurance ? Prepare the Revenue Account of Life Insurance
Company along with necessary schedules with imaginary figures.
16
g dm @ wrr dm § @ gt @ ? s siwet B o
FQ g e d M F F W @R ([ @) # arey AR
U1 T IELF STl W FR B 16
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qiT :

question from each unit but not more than two from each
unit. All questions carry equal marks.

9% §% @ 39 @ 39 0% 997 G @ @ AF T8 I oagT
0 §Q, F g 9w Fog ) it g B o gurT &
Unit-1 (3%E-1)
TATA Ltd. invited applications for 2,00,000 shares of Rs. 10
each payable as under : ¥ 3 per share on application ;¥ 3 per
share on allotment, ¥ 2 per share on first call and ¥ 2 per share
on final call.
Final call was not made by the company. An applicant who
had been allotted 1,000 shares failed to pay allotment and first

. call money due from him. His shares were forfeited after the first

call and were immediately re-issued at ¥ 8.50 per share, Make
necessary entries in the journal and prepare the opening balance
sheet of the company. 16

zrer fafiRs 3 10 T ofy s a@ 2,00,000 @isk & fre g o

“teE BT St e w3 A- 3 T ofy oy emdew W, 3 T ofy

S e G, 2 X AR S Jo A W) 9 2 T i e
bed!

F g1 A g T8 S ) o e Ras 1,000
9 T BT T 4, 98 Nded o W gqrEem @ URY 3
Frand e 36D S B T AT B A & BT BC AT W ST
g @ 8.50 X ufr siwr W g Febwa & Ran e # oravas
yfaftedl s Ru @ O . aRiees Ry Rewer 6 @R 16
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2.

(2)

Write short notes on
(a) Distinguish between right shares and bonus shares. -+
(b) Debenture issued as collateral security. ; 4
(c) Debenture Redemption Reserve. 4
(d) When net assets method of valuatxon of shares is

appropriate? : 4
it Ruftr iy : -
(m)mﬁmaﬁaﬁa?ﬁﬂﬂuaiaﬁﬂwaﬁf?ﬂm 4
(@) weww SRRy & w9 F FoE &R | 4
() o deE wEE| B
( 4

(@) gt B g A g wet R g ougE # 7

A company has T 60,000, 5% debenture outstanding on 1st
April, 2011. On that date the Debentures Redemption Fund
stood at T 50,000 represented by ¥ 59,000, 3% Loan of the
Government of India. The annual instalment added to the
Debenture Redemption Fund is ¥ 8,230. On 3 1st March, 2012
the balance at bank (after Interest on investments had been
received) was T 15,640. On that date investments were sold at
83% net and the debentures were paid off.

Pass necessary journal entries and prepare ledger accounts for
the year 2011-12. 16

1 s, 2011 2 wH T B 60,000 F 5% O Few ¥ 5@
mﬂwaﬁuﬂmso,ooo?ﬂ%wh%wm%
59,000?%3%amffhﬁ'd\ﬁa%lwa?mﬁwﬁmﬁm
%ﬁ&,ZBO?HﬁGﬂ“&ﬁWﬁ%IBI T, 2012#%%(1%1’-‘1%
0 @ O A B ) 15,640 T ¥ 3w Rife A R & 83%
gaﬂ%mwaﬁtwﬁﬂwmﬁmwnzml-lza&
3 Riu A S aRredl au @ qa #ie 16
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(7)

You are further informed that :

There is no change in the Balance of General Reserve Since
31st March, 2015. -

On 21st January, 2016 X Ltd. sold to Y Ltd. goods costing
36,000 for ¥ 48,000. 75% of these goods remained unsold
with Y Ltd. in the end of the year. On account of these goods
creditors of Y Ltd. include ¥ 20,000 owing to X Litd.

Out of the acceptances of Y Ltd. ¥ 60,000 are accepted in favour

of X Ltd. Out of these receivables, X Ltd. endorsed ¥ 42,000

worth bills fo its creditors.

Prepare a consolidated balance sheet as at, 31st March, 2016.
_ 16

anE Prefifen sfRed gaamd & % # -

() Tmrg deg # 9 & 31w, 2015 @ B¢ wEE T o

@ 21 mﬁ,zoléﬂmmﬁaﬁmeﬁmooo%
B @ & 5 48,000 T F =1 ww B oa A 3@ AW A
R} 75% W ad Rifes & o R e gon wer B A
Rifirde @ At & 20,000 T % @ wH e et v & S
v RifRE @ oUd 99X H4 B T T @ fae 2 B

Gii) e fafes & wat # 60,000 T i ¥ ot cow fofes @
o ¥ whga R e ¥ & e ffes § 42,000 T @
e Re d0 e & due R 3

o @ 31, 7 2016 @ wEiga Rafy R = Rw 16

Unit-TT (3%-111)

Hind Ltd. went into liquidation on 31 March, 2012. Following
was the position :

fe= fafres @ 31 ard, 2012 & @ gem) Refy e s 4

: i E4

Machinery, Stock and Debts realised 90,000
Cash in Hand 5,000
Preferential Creditors : 4,000
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(6)

7. X.Ltd. acquired 90,000 shares in Y Ltd. for X 11,20,000 on
31st August, 2015. The balance sheets of X Ltd. and Y Ltd. as
at 31st March, 2016 stood as follows :

g fafiees w31 WZOIS%IHE%W%‘;OUOO aiqr
11,20,000 T ¥ %4 A1 31 €, 2016 @ @ ks v @
fafiez & Rl Ra ﬁﬁﬁ[ﬁﬂ g :
Particulars Wi Y. Iad
L ¢ T
I.  Equity and Liabilities :
Shareholder’sFunds :
Equity Sharesof< 10 each fully paid = 40,50,000 1 1,25,000
General Reserve 7,20,000 1,80,000
Surplus (Profitand Loss)
Balance as on 1.4.2015 72,000 22,500
Profit for 2015-2016 2,88,000 90,000
Current Liabilities :
Bills Payables 1,80,000 80,000
Creditors 2,25,000 1,35,000
Total 55,35,000 16,32,000
II. Assets:
Non Current Assets :
Fixed Assets :
Plant and Machinery 31,50,000 6,75,000
Fixtures and Fittings 4,00,000 3,15,000
Investments (in Y Ltd.) 11,20,000 —
Current Assets :
Inventories 2,00,000 1,42,000
Debtors 2,60,000 2,25,000
Bill Receivable 2,50,000 1,00,000
Cash at Bank 1,55,000 1,75,000
55,35,000 16,32,000
21108

4.

(3)

Ram sold his business to Sham. Calculate the value of goodwill

taking into consideration the following factors :

(i) Goodwill is valued at three year’s purchase of average profit
of last four years. The profit earned by Ram for the
preceding four years ending 31st March each year were as
follows:

2001 : T 56,000, 2002 : X 75, 000 2003 : ¥ 75,000,
2004 : ¥ 55,000.

(i) Tt was ascertained that the profit 0f2001 included a non-

recurring item of income of  6,000.

Gii) Profitof2002 include 15,000 as Income on Investments.

(iv) The reasonable remuneration of the proprietor of business
is 79,600 per annum has not been considered for calculation
of profits.

(v) Theservices of manager will not be required in future who
is getting T 10,000 per annum. 16

I X W B A FIEE 1| e Tl B e @ g

i & g o1 B

) wﬁrmwﬁaﬁmaﬁf%eﬂwm%eﬁqaﬁ%m
T W & B 1 o & 31 A B wa @ A T AR A
¥y g afa @ 39 TR 9
2001 : 56,000 ¥, 2002 : 75,000 T, 2003 : 75,000 g,
2004 : 55,000 16

(i) @& s gem f @ 2001 3 @i & 6,000 T i uH I
vl @ o A AT i B

Gi) 20023 @ & 15,000 T RFET @ o & afa ¥

(v) =aEE @ & IRE aREiE 9,600 X simd & R ardl @
woE 3 e wde € Ren w1

(v) Yeea% 1 AT oo svEwEwar TE @@ s 10,000 X
affs o #T @ B 16
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(4)
Unit-1IT (F#-11)

5. Distinguish between Amalgamation in the nature of merger and

Amalgamation in the nature of purchase. Explain the methods of
calculation of purchase consideration as per Accounting
Standard-14. 16

foer @t ggft & wmTT T Y A Tl B wEhie ¥ o W
HIQ | F9 e B A A R B AEiE e-14 § SgER
LE 16

The following is the Balance Sheet of V Ltd. as at 31st March,
2016.

31 @, 2016 @t & ffRs & Ry REwr sw war R :

Particulars : 4
I.  Equity and Liabilities :
Shareholder’s Fund :
Share Capital :
3,000, 5% Preference shares of ¥ 100 each  3,00,000
6,000 Equity Shares of ¥ 100 each 6,00,000
Profit and Loss Balance (3,50,000)
Non-Current Liabilities :
6% Debentures 1,50,000
Bank Loan 1,50,000
Current Liabilities :
Trade Payables 75,000
Total  9,25,000
II. Assets:
- Non-Current Assets :
Land and Buildings 3,00,000
Machinery 4,50,000
Goodwill . 22,500
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(5)

Current Assets 65,000
Inventories 70,000
Trade Receivable 7,500
Cash and Bank
Current/Non Current Assets

- Share Issue Expenses 10,000

9,25,000

On the above date, the company adopted the Tollowing
scheme of reconstruction :

() The Preference shares are to be reduced to fully paid shares
of ¥ 75 and Equity Shares are to be reduced to shares of
% 40 each fully paid.

(i) The debenturestook over inventories and Trade Receivables
in full satisfaction of their claims.

(iii) The fictitious and intangible assets to be eliminated.
- (@v) The Land and Building to be appreciated by 30% and

Machinery to be depreciated by 333%.

(v) Expenses of Reconstruction amounted to T 4,500.
Give journal entries incorporating the above scheme of
reconstruction and prepare the reconstructed Balance Sheet.

16

qie [ #t el § FeafoRea gaftafo @ deen @eg
N

() iR st # ger #x 75 X gfv s pfen 9w € R
Wﬁﬂmmaﬂ%ﬁm%?nﬁrmmwm
fear e

@) TR ¥ awh W $ o gEe & @ ok A
qreaet B A R

(i) FPw v e walwdl B ofefea Ht Rar smom)

(iv) 9 @& 5T Bl 30% | FgEr A qu qhEh @ 335% 4
st R smem )

(v) gAifatn 3 =g 4,500 T gu)
gAEl #t Se Ao @ ar) FW B frg ofer sfaftewi
Fig o g P 3 gvaa @ Refy Racor s 16
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